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Answer as many of the questions as you can.
Write your answers in the answer books provided.
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Questions and credits

v & ERE
A. I found and I was happy Harold Somers 15 &
B. Adam Peterson’s grandmother Simona Klemencic 22
Translation (#7%) IIDA Zyun & MATSUO Takeru
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Question A: I found and I was happy 15 points
FLZROIT CTEATR 15 55

Somali is a Cushitic language spoken by approximately 16.6 million speakers, of which
about half live in Somalia, the remainder living in Djibouti (where it is an official
language), Ethiopia, and in the Somali diaspora.
Y= Uk VRRIRICE L. £ 1660 T ADFEE RN D, TONYEIT Y~ T7IZ, EVITT7F
(BHEED—2) | =F AT, V= Ui a EEICEA TV D,

In the table below are given the inflected forms of 1st conjugation verbs in
the 1st person and 3rd person singular (‘he/she/it) past tense.
Fill in the gaps.
TORITITHE 1V BEHEGEOF 1 - 3 AFREEGR LN H TWET,
()~ () DZEM Z D 70 X,

akhriyay 1read akhriday He read
FTREATE PeidmiA T2
aragay I saw aragtay He saw
ZINES TN el R 7=
(a) I taught bartay He taught
FTE AT Weid# 7=
ba’ay I was destroyed ba’day He was destroyed
AR S iz BelxmaE S h-
baajiyay 1 prevented (b) He prevented
BN BITB N2
baaqay [ announced baaqday He announced
FATAFE LT WlT Az L
baxay I left baxday He left
ZSNEay (idEay
bi'iyay I destroyed (c) He destroyed
FAITREEE LT VTR L T2
bilaabay 1 began (d) He began
FATARD T dEe oY
(e) I ate cuntay He ate
TR~ T ~T
cabay I drank cabtay He drank
ANTER AT Wik AT
cararay [ ran away carartay He ran away
FATRET 72 13T 7=
daaqay I grazed () He grazed
AN L7z Wit Lz
dhacay I fell (g) He fell
FATHEEATE Wl TR AT
dhisay I built dhistay He built
FATEET i3 T



diday
dilay
faraxay
gaadhay
galay
go’ay

(k)
horjeeday
kacay
keenay
korodhay
qaaday
tagay
xidhay

walaaqay

Pronunciation: Vowel sounds are much like in English. A double vowel indicates that the vowel is

I refused
RAITWr - 72

I killed
FATEE LT

I was happy
FITEATE

I reached
FITE N

I entered
FLIA -T2

I cut

FTY) > 7

I found
INESZROIbN
I opposed
FAEEOR LTz
I rose
FNISLH B3 -T2
I brought
FATEF > CTE 7=
I increased
FAFHEO L
I took
FATE - 72

[ went

I T o7

I closed
RS T2
I stirred

AT EIRET

diday
dishay

(h)
gaadhay
(i)

0)

heshay
horjeeday
(M
keentay

korodhay

long. Consonants are also as in English except as follows:

dh: a retroflex ‘d’ like the ‘dr’ in drive (IPA q)

He refused
WX~ 7=

He killed
i3z L

He was happy
WIT=EATE

He reached
WiIE N

He entered
BIFA-T=

He cut
i3~ 7=

He found
WITRoT 7=
He opposed

I CxF L7z
He rose
WIISEH Eno 7z
He brought
WiTFF-CT& 7=
He increased
PIFTHELTe
He took
PITE -~ 7=

He went
Wit -7

He closed
PR 7=
He stirred

Bz EEET

g: a voiced uvular plosive, like a ‘g’ but pronounced at the back of the throat (IPA ¢ )
kh: a bit like the ‘ch’ in Scottish loch but pronounced at the back of the throat (IPA x )
X: a voiceless pharyngeal fricative, hard to describe, but a bit like a heavy ‘h’ (IPAh)
c: same as X, but voiced (IPA ¢)

r: arolled ‘r’ as in ltalian

FE  REITRGEICETWD, ZENEIEINERRVWI L 2T,

HEHTROHDZRNTHEFHICE TV D,

dh: £ V&0 d,

q: B 0 EEMET,

. a glottal stop, like the sound in the middle of uh-oh (IPA ?)

drive @ ‘dricfelcn %, (EEEEFFR(IPA)TIX d)

‘GIBTWDE, MEOBRTREINDS, (IPATite)

kh: 222> h 7 > RRED ‘ch’lZb LTV A2, MEOHBR TRE SIS, (IPATIXY)

X: FERNHEEEE BT 308 LIZ < WA, SRV IR TV B,

CXERUENER, (IPATILC)
rAXVTREOL I REITOT,

“uh-oh DEAFOHFD X 5 7 PSS,

(IPA Tt ?)

(IPAClZh)



Question B: Adam Peterson’s grandmother
22 points
THL - B—F =Y DORBIEHLA 22 M

Slovenian is a South Slavic language spoken by approximately 2.5 million speakers
worldwide, the majority of whom live in Slovenia. AR _X=7 BT AT 7iEIRME S HEIZE L,
#9250 TANDFEEBRND, REDNABN=TIHEATND,

Approximate pronunciation guide: this is for your information only and does not
contribute to the solution.
¢, §, z are pronounced like ch, sh and the ‘s’ in ‘measure’ [IPA tf, [, 3], j is pronounced like
Yy’ in ‘yes’, [I[PAj], c = ts, h is pronounced like ‘ch’ in ‘loch’ [IPA x|, v is pronounced
somewhat like a w [IPA v]

EHREN B LHHT, MEHTOFIZIERY A,
¢, SIIWFED ch, sh DX I IZ, z L measure D ‘S’ DX HIZ [IPA TixZNZN L, [, 3].
jidyes® ¥ DL HIZ [IPATIEj]. cif V) | hidloch ® ‘ch’ ® X 5 IZ[IPA Tixx |,
vIiZw DL IIZ[IPATlidv] BESND,

B1. Study the following data which shows some word derivations.

In your answerbook, fill in the gaps. (11 points)
LI TREDIRE] 2R LTHY £9, (a)~ @) DZEMZE DR S0,
(11 /%)
Adam Adam Adamic Adams
TN (4) THE LR ()
baba woman babica grandmother, little old lady
M BiIHboA
(@) buffalo bivolica female buffalo
KA AV
boben drum bobnic¢ small drum, eardrum
Kigk 2V N N T
Bog god (b) small god
fi /NS
cokolada chocolate cokoladica  small chocolate
Fazalb—+F IhSWFgab—F
dekla maid deklica young girl
2 D
Gregor Gregory Gregoric Gregson
Jral— TVTY
grm bush (¢) small bush
TR INEZ VR IR
jama cave jamica hole
(AN N
knjiga book (d) booklet
ZN /Mt



koklja hen kokljica chicken

s O&kZ
menih monk menisic young monk
(1= U MHE
muha fly (e) midge
Wi () e ()
noga leg nozica small leg
il FEV
ogenj fire ognjic small fire
PS EDS
orlica female eagle
orel eagle Mo >
7 (9) eaglet
DA
oslic donkey foal
osel donkey .1:7 o %
. (g) jenny (i.e. she-donkey)
i RmAN
otrok child (h) baby
it OINGEVY
oven sheep (i) lamb
F +F
Pavel Paul (4) Paulson
R—/L =
Peter Peter Petric¢ Peterson
[ v——=
pob boy pobic¢ small boy
DA /A TR DR
Primoz Primus Primozic Primusson
PN TV LAY
(k) crab racic¢ baby crab
h = B AT =
roka arm rocica small arm
fis JE
(1) Stephen Stefanic¢ Stephenson
AT 4 =T AT A4 =TI
Sapa paw Sapica small paw
o 2 EULY/IOVINC A
Tomaz Thomas (m) Thomson
k<2 [NV



(n) thorn trnic small thorn

& INEWEF
Urh Ulrik Ursic Ulrikson
vy oy g
veter wind (0) draught
JoE i FHT L
volk wolf volcic wolf cub
IR RDF-
vrh peak (P) small peak
18 /NENTH
zid wall (q) small wall
Kt /NS UOEE
zZep pocket (1) small pocket
/A INSWRT b
B2. If rozi¢ means ‘small horn’, give the TWO possible words for ‘horn’ from
which it might be derived. (2 points)
rozic 78 UNSWA] WO EIRIZE T DL )] IZYT2 5 A _=T 55 3H,
AIREMED & HEkZ 2 DFEE RSV, (2 7)
B3. If ¢olni¢ means ‘small boat’, give the TWO possible words for ‘boat’
from which it might be derived. (2 points)
colnic 78 /hNSWi) EWOBEWIZE T DL, MR ICHLD A =T 5537
Py, FREVED H DFEE 2 >E I RS0, (2 47)



